[bookmark: _GoBack][image: C:\Users\User\Documents\20200508_205407.jpg][image: C:\Users\User\Documents\20200508_203839.jpg]
image1.jpeg
SA=E\
19-0 R S0y x
RC.O = d %)
ﬁdu - Y oy
AN I VY8 L I e VAR VSTV siyp Wiy
STQW = Gl c2% 20 % ey = T

ERRCER o
T AO T T- gy Ty verTe e

xer= A% - ,
@I T (TR ) T %-0 ) | 1)
R \
\ /‘
A \! \ ™S
S TR Yo 0\ ) @) ASYTQPE T g
[ Ve ’
: ] S kR
q\ Y
& o
i R n.}‘ Vit A X /,; ,,/,4 14 |
Q = TP WOF T TIOWMITRRTRY 2 oy 1 Vi 0L g
R 19\ ) ; A 5 L TR SR A ¢ /,/ \s /w \

_; _/
S QY ovy ?/_

(e B2 Aok A AVR A IR R Rie (UL 1 /t;/.//





image2.jpeg
\
LAY
\

ﬁ//





